Statistics Exercise 
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In [4]: # Read Data
data = pd.read_csv(r"c:\Users\JSchnurman\Downloads\drinks.csv")
data.head()

ourla: country beer_servings spirit_servings wine_servings ~total_litres_of_pure_alcohol continent
0 Afghanistan 0 [ 0 00 As
1 Albania 89 132 54 49 EU
2 Algeria 25 [ 14 07 AF
3 Andorra 25 138 312 124 EU
4 Angola 217 57 45 59 AF

In [6]: data.describe()

oulel: beer_servings spirit_servings wine_servings total_litres_of_pure_alcohol
count  193.000000 193000000  193.000000 193.000000

mean  106.160622 80.994819 49.450777 4717098

std 101.143103 88.284312 79.697598 3773298

min 0.000000 0.000000 0.000000 0.000000

25% 20.000000 4.000000 1.000000 1.300000

50% 76.000000 56.000000 8.000000 4200000

75% 188000000 128000000 59.000000 7.200000

max 376000000  438.000000  370.000000 14.400000

In [16]: # 1. Which continent drinks more beer on average?
continent_mean = data.groupby (" continent’)['beer_servings'].mean()
max_continent = continent_mean.idxmax()
max_consumption = round(continent_mean.max(),2)
print(f"{max_continent} drinks the most beer on average with {max_consumption} servings on average")

EU drinks the most beer on average with 193.78 servings on average
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In [25]: # 2. For each continent print the statistics for wine consumption.
continent_groups = data.groupby (" continent')[ wine_servings']
for continent , group in continent_groups:
print(‘Continent: ', continent)
print(*Count:’, group.count())
print(‘Mean: ', group.mean())
print(*standard Deviation:', group.std())
print(*Minimum: *, group.min())
print(*Maximum: *, group.max())
print(*\n")

Continent: AF

Count: 53

Mean: 16.264150943396228

Standard Deviation: 38.8464189733584
Minimum: @

Maximum: 233

Continent: AS

Count: 44

Mean: 9.068181818181818

Standard Deviation: 21.667033931944488
Minimum: @

Maximum: 123

Continent: EU

Count: 45

Mean: 142.22222222222223

Standard Deviation: 97.42173756146494
Minimum: @

Maximum: 370

Continent: oC

Count: 16

Mean: 35.625

Standard Deviation: 64.55578982554547
Minimum: @

Maximum: 212
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In [35]: # 3. Print the mean alcohol consumption per continent for every column.
continent_means = data.groupby('continent").mean()
for colum in continent_means.columns:
print(‘Mean alcohol consumption for', column, ‘per continent:')
print(continent_means[column])

print(‘\n')

Mean alcohol consumption for beer_servings per continent:
continent

AF 61.471698

AS 37.045455

EU 193.777778

oc 89.687500

SA 175.083333
Name: beer_servings, dtype: float64

Mean alcohol consumption for spirit_servings per continent:

continent

AF 16.339623
As 60.840909
EU 132.555556
oc 58.437500

SA 114.750000
Name: spirit_servings, dtype: float6d
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In [36]: # 4. Print the median alcohol consumption per continent for every column.
continent_median = data.groupby(" continent").median()
for colum in continent_median.columns:
print(‘Mean alcohol consumption for', column, ‘per continent:')
print(continent_means[column])

print(*\n")

Mean alcohol consumption for beer_servings per continent:
continent

AF 61.471698

AS 37.045455

EU 193.777778

oc 89.687500

SA 175.083333
Name: beer_servings, dtype: float64

Mean alcohol consumption for spirit_servings per continent:

continent

AF 16.339623
As 60.840909
EU 132.555556
oc 58.437500

SA 114.750000
Name: spirit_servings, dtype: float6d

Mean alcohol consumption for wine_servings per continent:

continent

AF 16.264151
As 9.068182
EU 142.222222
oc 35.625000
SA 62.416667

Name: wine_servings, dtype: float64




